1. 02:00 hours = [(J2am. Ll2pm.
2.450 + 350 =

3. 1s 1% closer to 1 or 2?

4.30x70=_
5. Which is better value for money?

(16 apples for 75¢ (14 apples for 45¢
6.50x30=

7. Complete the table using 4, 5 and 6.

Prime i Composite

8.3>+ [tue  [ralse
9./ Yes X No
Regular [ ] Irreqular [
Hexagon [ Pentagon [

10. Tick which you would use to measure this book.

[ ruler [ I metre stick

[1. Complete the table using A , V and E

Line of Symmetry
Horizontal ‘ Vertical

2. Write the numeral ten thousand.

3. How many cm?

(e

1. Tick the larger. [ EE
122 %=
5. Tick the smaller.  [~]10,001

110,100
‘f\‘
’. Draw a line of symmetry. Isit ~ / \
Cvertical? [ horizontal? /

}. €5.00 + €2.50 + €1.25 = € i
). 5B

). Is this angle

NewWave Mantal Mot -

1.0800hours= [ J8am. [I8pm,

2. Is 2+ closer to 2 or 37
3.€425+€1504€3.05=€_

4. 1sthisangle [ Jacute? [lobtuse? A
5.650+725=_

6.50x 70 =

7. Which is better value for money?

(19 sweets for 60c (15 sweets for 40¢

. 8 Complete the table using 9, 10 and 11.

Prime } Composite

| 9.Thisisa

] triangular pyramid.
] triangular prism.
L] rectangular prism.

' 10. Write the numeral twelve thousand and ten.

|
|
\
1
\
|

11. X =9
12 Tick the larger. (13 5%
u 13. Tick which you would use to measure a hurling field.
' [ I metre stick (I trundle wheel
| 14 490—240=""7""1
‘ 15 This is a
; L] rectangle. -
L] parallelogram. | fl
L1 thombus,
16.7>%  [OTue  Drake
1 17.40 x 70 =
| 18. Tick the smaller. [ | 15050  []15,055

| 19.8,16,24,32, 48

|20. 800235520~ o
o Uaater [ right? |



WEDNESDAY THURSDAY

- 1.1500houwrs = [13am.  [I3pm, 1.18:00hous= [ 6am. L[ l6pm.

2. Which is better value for money?

A 2. Write the numeral twenty thousand and twenty.
. [18bananasfor50c 14 bananas for 20c

L JaaMm

|
" 3. Is 3+ closer to 3 or 4?

3. Draw a 180° turn clockwise.

| 4,950 +475 =
| 5. Draw a 90° turn clockwise. B '
: > 4. s 2% closer to 2 or 3?
f 5. 650 + 705 =
" 6.90x50=
k4 6.4 = X =
L 7.€3.05+€2.20+€455=¢€
| 7. Tick the prime number.

| 8.Isthisangle [ Jacute? [reflex?
9 = [[as 2 2460 co By

/ 8.920-760 =
9.210-70=

B ———

9. Tick the prime number. 10. / Yes X No
g O [ L115 Regular [ Ireqular [
* 10. Tick which you would use to measure a door. Hexagon [ Octagon [

Uraler L metre stick 11. Tick which you would use to measure the playground. |

| 11. Write the numeral twenty-one thousand and one.

[ Imetre stick  [Itrundle wheel

1 [12.90x30=___
* | 12. Awizard's potion was 600 mL of apple juice and
500 ml of lemon juice. Colour the total.

| 13. Which is better value for money?

| [J9drinks for 75¢ [J12 drinks for 95¢

b
|
|

B |

| 14. How long? m
3 L ——
f 115.€10.10 + €260+ €4.25=€
’ i | 16. Tick the larger. 13 WL
| 13.5%= x = | 17. Tick the smaller.  [154,910 (154,009
1430 x 80 = 118.4>1  Ome  [ralse
15, Tick the larger. [+ [1% | 19. Is this angle
J 16. Tick the smaller. (130,401 [13,401 [ reflex?
17.850-225= | [obtuse?
118.4 <t e [False 20.5x89% 2=

19.30+30+30+6=
20. 6)96 =



[

]

~ 10. Measure this line.

(13,42 =

FRIDAY

1. 07:00 hours = l
(] 7am. |
] 7pm. !

2. 850 + 750 i

3.70x 30 =

4. Which is better value for
money?

[] 8 sweets for 40c
[] 5 sweets for 30c

5.20x 70 =

6. Draw a 90° turn clockwise.

7.230-80=

8. Tick which you would use
to measure a pen.

CJem  [Jkm
9. Tick the larger.
% ik

T

cam

(] Regular
(] Irregular
[ ] Hexagon

["] Pentagon

|

REVIEW

14. Is this angle
[ |obtuse?
[ Ireflex?

15. Does Y or C have 3
vertical line of Symmetry?

Y HE

16. Write the numeral fifteen,
thousand and ten.

17. Thisis a

_

18. Is 23 closer to 2 or 3?

19. This is a

[] rectangle.
[] parallelogram.
] rhombus.

20. Tick the smaller.

] 12,250

7 12,520
M agas s
bk o) S LA

23. Complete the table using |
7,8,9,13,14and 15.

Composite

* 24. Is this angle

] obtuse?
[] acute?

] Falser

25.+>+ [ JTrue

s el Bhe
. e (B




